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11.
12.

13.

14.
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20.

21.

22.

23.

24.

25. tg =

26.

217.

28.

OcHoBHbIE (opMYIbI TPUTOHOMETPHH

cos’a+sina=1
sina
COS .

tga =

tga -ctgo =1

1
tgo = ——
ctga

)=sina-cos f+cosa-sin 3
sin(a — B)=sina-cos g —cos a - sin B

)
cos(a— )= cos a-cos B +sina-sin
+ﬁ) tga+tgﬂ
1-tga-tgp
_ tga—tgp
l+tga-tgp
ctga - ctgp —1
ctg(o+ f)= ———2L "=
9o+ p) ctgp + ctga
ctga-ctgf +1
ctg(a— p)=—2——L 7=
g(a 'B) ctgp —ctga
sin2a.=2sina-cos a
cos 2a = cos® a —sin® a
cos2a =2cos’ o —1
cos2a =1—2sin’ a
2tgo
1-tg°a

tg2a =

1o %o —
2ctga

1-cosa

f1+ Cosa

_1—cos(x
2 1+cosa sina
a sina 1+COSoc

ctg — = -

2 l1l-cosa Sina
a+ﬁ_cosa—,3
2 2
sina—sinﬁ=23ina;/}~cosa;ﬂ

sm

COS

o sina

sina +sin = 2sin

29.

30.

31.

32.

33.

34.

35.
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37.

38.

39.

40.

41.

42.

43.

44,

45.

46.

47.

48.

49.

50.

o+ a—
ﬂ-COS p

COS o + COS 5 = 2C0S

2 2
COSa—cosﬁz—ZsinaJrﬂ~sina_ﬁ
2 2
tgo+1gp = Sln(a+ﬂ)
COS - COS f3
tga—tgf = sin(a — )
COS a. - COS

sin? a = %(1—005 20:)
2 1
cos’a = §(1+ cos 2a:)

sina~cos(x=15in2a
(sina+cosa)’ =1+ sin2a
sina -cos f = %(Sin(a + )+ sin(a - pB))

COS .- COS ff = %(COS(O! + ﬁ)+ COS(OC —ﬁ))

B)—cos(a+ B))

sina-sinﬁ:%(cos(a—
sinx=a; [a|<1
x=(-1)"arcsina+zn, ne Z
cosx=a; |a|<1
X==xarccosa+2zn, ne”Z
tg x=a

X=arctg a+zn, neZ

ctg x=a

X=arcctg a+zn, ne”Z
sinx=0

X=nn, he”/

cosx=0

X=£+77:n, nez
2

sinx=1

x:%+27m, ne”Z

cosx=1
X=2zn, heZ
sinx=-1

T
X=—=+4+2zn, NeZ

cosx =-1

X=mw+2zn, ne”Z

cos(— x) = cos x tg(~ x)=—tg x
sin(-x)=-sinx  ctg(-x)=—ctg x
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